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QUESTION 1

Where is the sysoffline trigger executed if a node goes into a jeopardy state or leaves the cluster?
A. on all nodes in the cluster regardless of state

B. on the node that goes offline by entering a jeopardy state or leaving the cluster

C. on all the nodes in the cluster that are still in a RUNNING state

D. on the lowest numbered system in the cluster with a RUNNING state

Correct Answer: D

QUESTION 2

Which command should an administrator use to verify the values of AutoStartList attributes for service group SG1?
A. hagrp -list SG1 AutoStartList

B. hagrp -display SG1 -attribute AutoStartList

C. hagrp -display SG1 -value AutoStartList

D. hagrp -value SG1 -localclus

Correct Answer: B

QUESTION 3

What is the purpose of the Steward process in a global cluster?

A. It performs WAN heartbeating between the remote clusters over TCP/IP sockets to enable status checks.
B. It transmits commands and results between remote clusters for global cluster administration.

C. It provides an inquiry mechanism for checking cluster status to minimize chances of a wide-area split-brain.
D. It ensures all communication between clusters in a global cluster is secure.

Correct Answer: A

QUESTION 4
An administrator has started a cluster using hastart.
Which two commands should the administrator use to determine where each service group is running? (Choose two.)

A. hasys -display
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B. hasys -state
C. hastatus -sum
D. haclus -status
E. hagrp -state

Correct Answer: CE

QUESTION 5

A multi-tier application has Oracle at the first level and WebSphere at the second level, which depends on the Oracle
application. The Oracle and WebSphere service groups are configured in two separate cluster. The administrator wants
the following fault behavior:

1.

when the Oracle service group faults, the WebSphere service group should stay online

2.

when the Oracle service group comes back online, the WebSphere service group should be taken offline and brought
back online

Which type of dependency must the administrator configure to acquire the desired behavior?
A. virtual business services with soft type of fault dependency

B. virtual business services with an online global firm dependency

C. virtual business services with firm type of fault dependency

D. virtual business services with restart type of fault dependency

Correct Answer: D

Latest VCS-260 Dumps VCS-260 VCE Dumps VCS-260 Practice Test

Latest VCS-260 Dumps | VCS-260 VCE Dumps | VCS-260 Practice Test 3/3


https://www.geekcert.com/vcs-260.html
https://www.geekcert.com/vcs-260.html
https://www.geekcert.com/vcs-260.html
http://www.tcpdf.org
https://www.geekcert.com/vcs-260.html
https://www.geekcert.com/vcs-260.html
https://www.geekcert.com/vcs-260.html

